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‘%nqﬁfiun decompatction

ZTopOld = [3.976 3.517] %km

ZBotOld = [5.028 ] %km

ThicknessOld = ZBotOld - ZTopOld;

zTopNew = 0; % km

zBotNew = ThicknessOld; % a minimum starting value
c = [0.39 ];

phi0O = [0.56 ];
ratio = phiO/c;
Kl = exp(-c * ZTopOld) - exp (-c * ZBotold);

% Find zBotNew by iteration

% First try ZBotNew with the above minimum starting value

% ans should end up equalling zBotNew

zBotNew = Thickness0ld: .01 : 2*Thickness0ld;

for i =1:1

ans = ThicknessOld(i) + (exp (-c * zBotNew) + Kl(i) -1) * ratio(i) * -1;

converge indices = find(zBotNew./ans < 1.001 & zBotNew./ans > .999);
ThicknessNew = zBotNew (converge indices)

disp(['Decompacted sediment thickness is 'ynumZ2str (ThicknessNew), ' km'])
end

plot (zBotNew, zBotNew./ans)
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